EARAROBREBRT —5 XN—ZXBISH—F

20224£10823H (H) 16@&R18H

B EAEADE SRR B
[AXE%€]) 1%&:360,00 M ~ 2%&:115,000H  3#%&:57,00MH  4%&:43,000H  53&:36,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— s 3. —6-6- 4| - IR (&R
1 MEEEE =L i3 e 1(3_2)3 6-6-6-4 | 39.4 6 (4_23 farses
RiRSAYT BIYRTIAL #iHF B
O — — s 3 | BUIES 1:32.3 3-3-1-2 | 40.5| — 1 475 | R (&R)
2 6 | FOR=—% 52,0 F93) 2 | R LvIz
RARASRZ—9 B:RAT4FT—R MEZ Y R
W e . SHRE 132, -4-4- . - k@R (R
3lglg| Ly YRy k %3 | g8 A A e 2 e
RiF4RIU—bFrvyv b B IPANAU— TH 0B
S~ 0 ft 3 | PEREth 1:33.3 5-5-5-6 | 40.8| — 4 | 440 |SEET @R
47| 8| FTURISVY 54.0° 3 W) | B ILIVF—85TUy KR
R:FAIXTv— B:NGS EAHERIY R
— 4 3 | WPHEtE 1:33.3 1-1-1-1 [ 41.5| - 3 449 | BISSLE (FR)
EH 3| Ee—h 54.0 F5) ) |£HFE
RFANTI—TI BHIFIV H B
P 3y i 3 | BURTF 1:33.3 2-2-1-5 | 41.5| — 5 | 451 |ERmMt &R
6l5|5|7—rav—a 54.0 F9) #9) REEX
R:O0—RKAF07 H:USIH—Ta TATFAT7—L
o 4t 3 | PHEELE 1:34.5 9-9-9-9 [39.9| - 9 M | ERZ (&R
7181]10 RA=I 54% ) © =E—=
RRLTFY BESTU BHT7—L
= _ st 3 | ERERAM 1:34.6 7-7-7-7 | 40.9| - 7 | 4 |BRBRE (&R
g8l111|PTYR+E 54.0 /2 “7) E&Iﬁ) J P N
RIU—FHISIY B:XAH HHERT W R
= 4 3 | HFHBMAR 1:35.5 8-8-8-8 |41.6| — 10 | 415 |&EH-8 &R
Eﬂ 4| FII35 54.0 @ o |lHEE
R:ZIWFNSV2 B:ZEH90IS5vT ple sk e ]
BT :36. -10-10- . = A GER)
1007l 7| FUzO— 4 3 B 1(37639 10-10-10-10| 41.5 8 (4_472) o
RIZAX—RT7IAY BAALTST— HPEKS
@ 11— —BERIEI
13—7F— 3,5,6,9,8,2,1,4,10,7
20— — 3,5,6,9,8,2,1,4,10,7
BEIES /S (3,5,6),9,8,2,1,4,10,7
40—F— 3,6,9,2,5,8,1,4,10,7
o ILRE
BB 2 3,630 JA R 2-6 900MH & 2-6 3,000 3ER 2-6-9 1,250/
B B 2 440 2-9 5904 (=] 2-6 6,180 3Es 2-6-9 37,890H
6 1509 6-9 1409 B E 2-6 1,420
9 180M Ba 2-6 12,0904

ABIC OV TRUTEREERRODDZE. THRIIZEL.




